
0G259G(B) 2023.07

请根据本施工说明书的内容正确安装。
安装结束后，务必在产品包装箱内所附带的保证书上填写施工者名称和安装日期，并与使用说明
书一同交给客户。
 

施工说明书
 

废弃处理
 如果您需要废弃本产品，请勿将其作为一般生活垃圾处理，请依照法规经由独立的回收体系进行合适的处

理、恢复和回收。
 

安全上的注意事项（为了安全起见，务必遵守）

 安装前，请认真阅读本「安全上的注意事项]的内容，并正确使用。
 为了正确使用本产品，确保客户或他人免受危害或财产损

失，本说明书内使用各种标识。
 

务必遵守的内容均用下列所示的标识分别
进行说明。
 各标识与意义如下：

 
标识 
 
注意
 

注意
 

如果无视此标志而错误使用，会导致人
身受伤或物品损伤的发生。
 

此标识表示「强制」实行的
内容。
 左图表示「强制」。

 

安装上的注意事项
 

强制

务必安装在混凝土墙面，必须使用与本产品附带的树脂账套。
否则因安装不稳定使产品掉落下来而可能会导致人员受伤。
 
安装时，应使用本产品附带的螺丝。
否则因安装不稳定使产品掉落下来而可能会导致人员受伤。
 
安装结束后，确认产品上有无松动现象
产品有松动时，会造成产品脱落或墙壁损坏而可能会导致使用者跌倒或受伤。
 
以产品上端至地面的高度1700mm为参考标准将毛巾环、浴巾架
安装在不会碰头的位置。
否则可能会导致人员受伤。
 

安装时的须知
 

安装前，请先确保产品包装完整，配件及附属品等齐全。
确保墙壁平整。
确保产品保持水平安装。
 

产品型号：见包装箱上的标签
产品名称：见包装箱上的标签
生产日期：见包装箱上的标签
组装工厂：东陶机器（广州）有限公司

厂         址：广州市番禺区南村镇兴南大道715号
 

东陶（中国）有限公司
全国售后服务电话：800-820-9787（固定电话）
                                        400-820-9787（手机用户）
销售商：东陶（中国）有限公司
地     址：北京市朝阳区光华路1号北京嘉里中心北楼
                  1915室
网     址：www.toto.com.cn
 

生产厂家与销售商
 

Installation Manual

Install the product properly according to the directions in this Installation Manual.
When the installation is over, be sure to enter the name of your company and the date of installation on
the warranty card attached to the Instruction Manual and hand it over to the customer together with the
Instruction Manual.

Safety Precautions(Observe the following matters for safety sake.)

Read these "Safety Precautions" carefully before installation in order to install the product properly.

In this Installation Manual, various indications are used to ensure
the product is installed properly and to prevent risk to the
customer and other people, and damage to property.

The kind of observance is categorized by the
following pictograms.

The indications and their meanings are as follows.

Indication Meaning

Cautions
Handling the product contrary to this
indication may result in injury or damage
to property.

means that "something must
be done" or "is required".

The left figure indicates that “must
do something".

Precautions in Installation
If the installation side is concrete ground only, be sure to use the
attached plastic plug.
Otherwise, the installation side becomes unstable and the product may fall off
and injure you.

Otherwise, the installation side becomes unstable and the product may fall off
and injure you.

Use the attached screws for installation.

Cautions
  must do
semething

When installation is completed, check the product's stability.
If the installed product is unstable, it may fall off the wall or the wall may break
causing the user to fall and get injured.

Install the towel shelf and robe hook in a location where your head
does not hit them. As a reference, ensure 1700 mm between the
finished surface of the floor and the towel shelf and robe hook.

 
Otherwise, you may get injured.

Tip for Installation If any flaws are found in the wall, prepare a flat surface using washers or
spacers.

TOTO Asia Oceania Pte. Ltd.
Telephone : 65-6744-6955
FAX            : 65-6841-0819
Address     : 10 Eunos Road 8 #12-07 Singapore Post Centre Singapore 408600
Website      : asia.toto.com
 

意义



配件 / Accessories

附属品 / Included parts

施工方法 / Installation procedures

YH902

YH902 YH903 YTT902 YTT903

YH903 YTT903YTT902
YT902S4
YT902S6 YTS903B YRH903YTS902BYT903S6

YT903S4
YRH902

2

2

6

8

2

2

2

2

2

2

2

2

2

2

4

4

4

4

2

2

1

2

2

(M4×5)
2

(M4×8)

2
(M4×6)

2
(M4×8)

1
(M4×18)

1
(M4×18)

2
(M4×10)

1
(M4×10)

标准 (default)
 R

R L

标准 (default)
 R

R L48 40

600 600

18 24

40

40 40 40 40
40 40

40 40

φ6×2
 

φ6×2
 

φ6×2
 

φ6×4
 

φ6×4
 φ6×2

 
φ6×2
 48 35

29 24

φ6×2
 

φ6×2
 

φ6×2
 

130~ 130~

       S6 ：600        S6 ：600
       S4  ：450        S4  ：450

YT902S4 / YT902S6 YT903S4 / YT903S6 YTS902B YTS903B YRH902 YRH903


